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(C) GNPyp = GDPyp + e @ uea 3 @med 31
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General Instructions :
Read the following instructions carefully and follow them :
(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two sections :
Section A — Macro Economics
Section B - Indian Economic Development

(iti) This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv) This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

(v) This question paper contains 6 Short Answer Type-II questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viii) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

1. Read the following statements carefully : 1

Statement 1 : If in an economy the level of income increases (AY), it will
always proportionately increase the level of consumption
(AC).

Statement 2 : Marginal Propensity to Consume (MPC) and Marginal
Propensity to Save (MPS) are always equal to each other.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

2. Identify the correct equation from the following : 1
(A) GDPyp = NNPpc + Depreciation
(B) NDPpc = NNPgpc + Net Indirect Taxes
(C) GNPpyp = GDPpp + Net Factor Income from Abroad
(D)  NNPpc = NDPyp + Depreciation
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TG G W SR 16 Blal & |
IEETR I
(A)  3fRe (A) 3T HRU (R) THT O & 3R RO (R), 31fieme (A)
g AT 2 |
(B)  31fheM (A) 3R ST (R) SHT T 8, oifehd ROl (R), AheH (A) I
el ST TE © |

(C) 3R (A) FF 7, Wlohd SR (R) T 3 |
(D) 3T (A) 3HH 8, Afehd HRUT (R) TF 2 |

4.  “fcT 9 T[T 2023 %, AN Tk TaEES (NSE) o TRl o JIER, Th T8
i afy =14, 9 w3 2023 - 9 S 2023, H et €AW fewmpl (FII) g
T 309 HUS hi g forshi 1 715 off |7
ST TH-¢7 YRd & YA dded T 9T | gS foRa

ST | (Teh Tol =t WA & T Tt fashew =1 =em hifSe) 1
(A) =T, sfee (B) i, shise
(C) =, shise (D) s, Sfere

5. TfiRgd ¥ € qgT 9 (M) 1 sr@ey fomivar /fasiwareti i vgam Hife . 1
(i) 39 999 % T foig W HIGT S R |
(i) 58 GLHR & IE T U g49-HSR i AfFTId Tl T SImar 2 |
(iii) I8 TS TUSE o hgd Soh & ITE T g Bieft 7 |

IEEIR
(A) () 3 (i) (B) (i) R (i)
(C)  ad (ii) (D) ad (iii)
6.  HH o IFITHR T & GRI ThAT T HA ITHAT =TT q
T TIASH 7 | (fh Tt &l A & o @&t foeheyw &1 =@ hIfSw) 1

(A) T U9, W Hew
(B) T&mI o, df@ 39uim
(C) e e, @ e
(D) T 99T, IR 39T
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3. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below : 1
Assertion (A) : Full employment situation refers to absence of
involuntary unemployment.
Reason (R):  Under full employment situation, all the willing and able
bodied people get employment at the prevailing wage rate.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

4. “As per the National Stock Exchange (NSE) data, dated 9th June, 2023,
there was a mnet selling off worth < 309 crore by Foreign
Institutional Investors (FIIs) over the period of one month i.e.,
9th May, 2023 — 9th June, 2023.”

The above mentioned transactions will be recorded on side of

account of Balance of Payments of India.
(Choose the correct alternative to fill in the blanks) 1

(A)  Debit, Current (B) Credit, Capital
(C)  Credit, Current (D) Debit, Capital

5. Identify the incorrect feature(s) of money supply (M) from the
following : 1
(1) It is measured at a point of time.

(i1) It does not include stock of money held by the government.
(iii) It is always the currency in the hands of the Central Bank of a

nation.
Alternatives :
(A) (1) and (ii) (B) (i1) and (iii)
(C) (1) only (D) (iii) only
6. Total consumption expenditure by households under Keynesian
Economics is a combination of and

Choose the correct alternative to fill in the blanks) 1
(A)  Autonomous Consumption, Autonomous Investments
(B)  Autonomous Investments, Induced Consumption
(C) Induced Investments, Autonomous Investments
(D)  Autonomous Consumption, Induced Consumption
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T AT | I (80%) STRI&T FIIT
(20%)
I 5000 4000 (D).
11 4000 (). 800
P | (). (iv).. 5000
[CEIZIE

(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000

8.  TaW dqe (BOP) H 31 o1 aread

S ARRaT ¥ 2 |

(T=h T &t WA & fofe o} fasheq &1 == difvw) 1

(A) TR WA T &R A

(B) T WIftadi WX =ITe] WdT Y™
(C) St @ YA IS @ wiftaat
(D) WA YTaE W &R Tiieadi

9. TorHl rcufaer tefeuawen & fow am <fifve fo
C =100 + 0-75Y (S&T C = 3UI 9 Y = 37)

(Th o &1 WA & fore o) faehew 1 =am Fifso) 1

I, = 400 (I, = @ f1aw)
a1 ek (K) 1 94 g |
(A 5 (B) 4
C) 6 (D) 3
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7. Find the missing figures and choose the correct alternative : 1
Round Deposits Loans (80%) | Reserve Ratio
(20%)
I 5000 4000 ().
II 4000 (). 800
Total (). .(v).. 5000
Alternatives :
(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000
8. Surplus in Balance of Payments (BOP) refers to the excess of

(A)  Autonomous payments over Autonomous receipts

(Choose the correct alternative to fill in the blank) 1

(B)  Current Account payments over Autonomous receipts

(C)  Capital Account receipts over Capital Account payments

(D)  Autonomous receipts over Autonomous payments

9. Suppose for a hypothetical economy :

C =100 + 0:75Y

I = 400

Value of Investment Multiplier (K) would be .
(Choose the correct alternative to fill in the blank) 1

(B) 4
(D) 3

(A) 5
C) 6
11-58/1/1
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(where C = Consumption and Y = Income)
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T ST foh, T wicue JATeY] & YR Gdad T 500 HUS
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3R GdeH guial 8 | Hia f¥id o1 god T 1200 HUS 9 a0 e

T 400 HUS B |

JIUST (Merchandise) 3TRITd 1 oI T
(T=h T &t WA & fore ot faehew &1 =m Fifsw) 1

(A)
(B)
()
(D)

11. (%)

(@)
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1700
750
700
900

HUE BAT |

Tsh HlcdHh JATGEY] & fy = oy U ATehel & JAUR W, 1o

AT W I TRl 37UTE (NDPpe) % Hod 1 I RN 3
e i (7 g@' )
(i) | Sehal SRe TATR goit fAmior 200
(i) | fr=ta 50
(iii) | 37fc TR IqUNT = 320
(iv) | earft dsft w1 3uHm 35
(v) | Afoqm =ie] 399 == 470
(vi) | HTcTEEl (Inventory) et
(312 (-) 40
(vii) | 3 60
(viil) | Fg AT T 50
(ix) | focer & 9T g HH = 20

AYAT

(i) 3UYH 3GTEN <hl TERIAT © STRIATSAl hl STGUROM 1 Ui hiforg | 2

(i) T SARRY i giTia HifSe |
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10. Suppose, the Balance of Trade of an imaginary economy shows a

favourable balance of ¥ 500 crore. The values of merchandise exports are

T 1200 crore and transfer payments are ¥ 400 crore.

The value of merchandise imports would be ¥ crore.

(A)
(B)
(C)
(D)

11. (a)

(b)

11-58/1/1

(Choose the correct alternative to fill in the blank) 1
1700
750
700
900

On the basis of the data given below for an imaginary economy,
estimate the value of Net Domestic Product at Factor Cost

(NDPFc) . 3
S. No. Items .Amount
(in < crore)
(1) Gross Domestic Fixed Capital 200
Formation
(i1) Exports 50
(iii) | Government Final Consumption
. 320
Expenditure
(iv) | Consumption of Fixed Capital 35
V) Household Final Consumption
. 470
Expenditure
(vi) | Inventory Investment (Net) (-) 40
(vil) | Imports 60
(viil) | Net Indirect Taxes 50
(ix) | Net Factor Income from Abroad 20
OR
(1) Elaborate the concept of Externalities with the help of
suitable example. 2
(i1)  Define Operating Surplus. 1

P.T.O.
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13.

()

Ho <k AT hifv |

frefetRaa arfetert bl U HINT | 3 6 T 200 HUS o &L T Iq9A

37717 (Y)

(¥ S H)

37T ITIIT

0

ygft (APC)

100

1

200

0-85

300

0-8

oooooooooooo

4

AT

“fopeft srefeaen |, Yo Twy Yfd, Ty THy Wi W w9 7 |7
3cTEH, 3 9 TSR o T T 3Heh YHTE shl SIREAT shifod | 4

(@)

14. Tfafad et 1 9y dhl g ST sHifT
(%) Heol o fopeft srefearazen w1 U g1 Sehal TTfershr & | 2

(@) 9z fodfed YAl (Deferred Payments) % A& % HY o &4 H HH
Tl 2 | 2

15. e 8 @ 2023 % T SIS IEFE W 3gyd HHfARgd @ w1 e
HIA I :

“Urdia ford d (RBI) 1 @€ faior afafa 9 o ®9 @ S=Hh R0 e &l
6-5% W IUNEfdd W w1 i fo=m 3 | gfufa 3 sweiee gifes fifa

o~

(Accommodating Monetary Policy) & A9H A T &I shigd i & faQ

TagH fea g 17

feu U e 9 g gug % R W f=faiad gwAt % 3w i

(%) IWIH T H T MU AT ge I IgAET 9 == i | 2

(@) aafg o fufor aftfs 3 3% @ d @ A B, @ ggr mafd & Furfaa
giomT St == it | 2

Page 10
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Distinguish between fixed exchange rate system and flexible exchange

rate system.

(a) Complete the following table. Construct/Express the Consumption
function at ¥ 200 crore level of income.

Income (Y)
(in < crore)

Savings
(in < crore)

Average Propensity
to Consume (APC)

Marginal Propensity
to Save (MPS)

0

(=) 30

100

1

200

0-85

300

0-8

(b) “In an economy, ex-ante Aggregate Supply is less than ex-ante
Aggregate Demand.”

Explain its impact on the level of output, income and employment. 4

14.  Justify the following statements with valid arguments :

(a) The Central Bank is the sole currency issuing authority of an
economy. 2

(b)  Money serves as a measure of standard of deferred payments. 2

15. Read the following text carefully from ‘The Economic Times’ dated
8th June, 2023 :

“The Reserve Bank of India’s (RBI’s) rate setting panel unanimously
decided to keep the benchmark lending rate unchanged at 6-5%. The
committee voted to remain focused on the withdrawal of accommodating
monetary policy.”

On the basis of given text and common understanding, answer the
following questions :

(a) Identify and discuss the economic issue indicated in the above text. 2

(b)  Discuss the likely consequence on money supply if the rate setting
panel would have decreased the said rate. 2

Page 11 P.T.O.
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I o 984 H dY T ST ;
(i) RO W ITH AW | ‘ 2
(i)  Toret TR Hraet bl foshl @ fafers wifeqa | 2
(i) YRA § Sifctehl &A1 1 TicHTiEd B o ol T U5 SR
(USA) §GhR g1 & T Tority wgma | 2
3T

(@) @) = feu T A # ees e iy i frefafed W
ThH] 3T H deddd &[T o1 fagawe Hifvu

I IR 2
(II) mfior foe 2
=T i ¥ <Al
@ Het <kt g (e ra s)
5501 2021-22 E
Z'gg: [ T=/=a === (RE) 2022-23 _
peenl I s == (BE) 2023-24 5 -
3.50 4 op)
3.00 1 o 2R V
2.50 - RN Z
1.00{ 5 5 18 55 S3S S "wm / /

+ %O =P 7 / % %
o cem oo ol (0N
.00 LA 7 gl Ul Wl Bl R

s wed fawm e fien PN IR EEg  grfiv

AT Tfafafert feremrer

(@) () T R’ g e "’ % i 3T wse hif | 2
Fie: HEIGT F97 FIT IR ghgntdar & o9 yo7 &7 16 (i) & €9 |

g1

LN g9 & R i i =aman it | 4
17. (%) Uh fg-8F Hied § 3 % =hid TaTg hl TGUROT 6 689 o sared

$||\3Q | 3

(@) “Hifgw T%a = 3G (GDP) i T H JRdiceh el =T 3cdTg

(GDP) Terelt Trsg hl 3TTieles WG o1 98 dehash & |
FI7 A9 faU T H O A 7 2 fRHl Q9 wreue aeaTeHe 3eTE
% 1Y I I i gfsd T | 3
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16. (a) Classify the following as Revenue receipts or Capital receipts. Give
valid arguments in support of your answer :
(i)  Interest received on loan. 2
(i1) Disinvestment receipts from the sale of a government company. 2
(iii) Financial assistance by the Government of USA for promoting

girl education in India. 2
OR

(b) (@) Study the following chart carefully and analyse the changing
trends in the government expenditure on :

4} Transport 2
(II) Rural Development 2
TREND OF MAJOR ITEMS OF EXPENDITURE
(¥ lakh crore)
b~
2.501 2021-22 o
5.001 MMM Revenue Expenditure (RE) 2022-23 o
igg Il Budget Expenditure (BE) 2023-24 . g
3.50 A g
3.00 - o Qo 7
i RN
1.50 1 Swpheo I~ %8:;#"‘% %
10l 58 pps S S S8 o - mm / )
os0] S n [T 7 %I% n
' Social Welfare Urban Health Education  Agriculture and Rural Transport
Development Allied Activities ~Development
(b) (1) Distinguish between ‘fiscal deficit’ and ‘revenue deficit’. 2

Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 16 b(i).
Explain the stabilisation function of the Government Budget. 4

17. (a)  Discuss briefly the concept of circular flow of income in a two-sector
model. 3
(b)  “Real Gross Domestic Product (GDP) is a better indicator of
economic growth of a nation as compared to the Nominal Gross
Domestic Product (GDP).”
Do you agree with the given statement ? Justify your answer with
a valid hypothetical numerical example. 3

11-58/1/1 Page 13 P.T.O.
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18. Tamfafga oMl =l ufgu - 31fihed (A) 3T &1 (R) | 9 few 7o fawmedi #

T Tl foered giw 1
STfHYT (A) : W dEEd U9 & ciys fafema 3 o8 St wai =i
gfoeaeff g & Teh feam o |

HRU(R) : Tt & 9 3cq1g urel AN TS T gicehal § g9R
ST ATS8E UTed i | Sl U 961 i off |

%qu .

(A) AR (A) 3R HRI (R) AT T § I BRI (R), AR (A) HI
T AT & |

(B)  AMHAT (A) 3N SR (R) SHT T 8, Wohd HROT (R), IT1HAT (A) h
HE AT TET ® |

(C) 3R (A) TcT B, Wfohd 1T (R) T 7 |

(D) 3T (A) IHH 8, Afehd HRUT (R) TF 2 |

19. 1970 % T W, UTfREA™ 3 3794 I T USSR foharm o |
(Th o &t WA & fore ot faeshew 1 =ram o) 1

(A)  Tafchcar smaTies et datt
(B)  3UMIHI S&ga3Ti daeh
(C) UShra aEqeti et
(D)  forgeh =ATAR
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SECTION B
Indian Economic Development

18. Read the following statements — Assertion (A) and Reason (R). Choose

the correct alternative given below : 1

Assertion (A) : The excessive regulation of permit license raj prevented

certain private firms from becoming fairly competitive.

Reason (R):  Private sector wasted huge amounts in obtaining licenses
rather than on improving the product quality and

international competitiveness.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

19. In the decade of the 1970s, Pakistan nationalized its industries.
(Choose the correct alternative to fill in the blank) 1

(A)  Medical infrastructure
(B)  Consumer goods
(C)  Capital goods

(D)  Foreign trade

11-58/1/1 Page 15 P.T.O.
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20. fARIREd Sl 1 LAHYES A-F HINT 1
FY7 1 : INUARG IMET & 3Tad, Ui G (I @, 8 9 dR
a7ife) 1 foepra femam T o |
FYT2 ; VR H AT LT o IhE o N driaes 32 fsifesr faai =
HgE T o |

feu U seET % AT H, Efaiad # 8 wEl ooy w1 we hifve
(A) HIT 19T 8 3TN HAT 2 37TH 8 |

(B) YT 130T 2 MM FA 2T 2 |

(C) YT 13M 2T I |

(D) Y 13 2 gHI 3 7 |

21. UgIH iV fh FfaRad # 9 Hi-a1 foshed, SN foquE Yoret o sraer
W%?ﬂﬁm% : 1
(A)  TIASH, TSHUT, FHEHT, FohforT
(B)  3IcqTed, IS, gEEehtr, Ufen
(C)  TIISH, TEERUT, YehfonT, Iias
(D)  TEEhRT, Yehfort, Afem, feaor

22. frfaRaa wuat =1 ufeu - s1fiepem (A) 3R &R (R) | 9= fou o foseut &
ﬁa-gﬁﬁwqgﬁq 1
379 (A) : Tava =AUR T (WTO) 8 I8 3TUeT sl St & foh 98 Te=

TS R MY, U TehalW®l 9T T Ufdeen & s=- & fore

Frm_snenfa saTies saaTen Teonfug =t |
PRU(R) :  UATE WEU * @ry-wd, fova 3cared ¥ gfg w9 Afvaw
T T $5Cad I9AT gifTad e Aferd 7 |
faeney
(A) AR (A) 3R SR (R) THT T § 3 FR (R), (=R (A) H
T AT 7 |
(B) AR (A) 3R RO (R) HI T &, WAfehd HRIT (R), ATHRAT (A) HI
e s g @ |

(C) AMMHAT (A) T B, Afhd 0T (R) 3HH 8 |
(D)  3TYYHI (A) A 8, Afehd HRUT (R) TF 2 |

11-58/1/1 Page 16
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20. Read the following statements carefully : 1

Statement 1 : Under the colonial rule, basic infrastructure (like
railways, post and telegraph etc.) was developed.

Statement 2 : The real motive behind the infrastructural development
in India was to strengthen the British interests.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

21. Identify which of the following alternatives indicate the incorrect
components combination of Agriculture Marketing System : 1

(A) Assembling, Storage, Processing, Packaging
(B)  Production, Assembling, Processing, Grading
(C) Assembling, Processing, Packaging, Transportation

(D)  Processing, Packaging, Grading, Distribution

22. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below : 1

Assertion (A) : World Trade Organization (WTO) is expected to establish
the rule-based trading regime, to avoid unilaterally placed
arbitrary restrictions by member nations.

Reason (R) : It is imperative to enlarge world production and ensure
optimum utilization of world resources along with
environmental protection.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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03, FrefRad Sl ) TR — SHHE (A) S HRA (B) | A fow e fred §
T T faemed gfe
SYFIT (A) : I T 39T ANl o fou faics amifees 9 anfdes 31am
3T R & fTU SR G 1 39T TR @

FHRI (R) : ORI ¢RI HMINIeh STYMeh 9= o fAHior 9 <9 4 99
frehT® Hehdehl H HehIcHeh oy feu 3 |

forepey

(A) I (A) 3T SR (R) I Tcd 8 JW SR (R), AR (A) h
g AT 7 |

(B) 3T (A) 3T RO (R) ST HcT 8, Afehd RO (R), MR (A) h
Tl AT TET R |

(C) IR (A) TcT 7, Wohd ST (R) 37T 7 |
(D) 3 (A) IHF 8, Afehd R0 (R) T 7 |

24, TfcRed fosrel # &, faf=afia $N S9R % s@er T 61 789 HINT
(i) I HI I IAGI D AW oI fcaa o g foque yomeft =i
HIA I JHTET SHHT |
(i) TRl < AT foquH FHETE Ble H IR il gdlcdTigd ST |
(iii)  SHIERI ST SATHYT THAT |
(iv) hEehi i ITeh! 3TN oh! TUETT 9 HET H IR H o oW garedriaa

T |
foreped -
(A) () AR (i) B) () AR (ii)
(©) (i) 3 (iv) (D) (i) 3 (iv)
25. YR 9 UIfehed™ H AN E| aui H o gUR AT
fepg mT 9 |
(Teh Tl 1 W & foru @t faeshed &1 =@ Fifso)
(A) 1988, 1978 (B) 1991, 1978
(C) 1991, 1988 (D) 1981, 1991
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23. Read the following statements — Assertion (A) and Reason (R). Choose

the correct alternative given below :

Assertion (A) : China has used the market mechanism to -create

additional social and economic opportunities for its

citizens.
Reason (R):  Social infrastructure creation by the government has
brought positive results in human development indicators
in China.
Alternatives :
(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

24. Identify from the following alternatives the incorrect objectives of

regulated agriculture market :

1)

(i1)

To make the marketing system efficient and effective for farmers
to get best price of their products.

To discourage improvement of marketing infrastructure for
farmers.

(iii) To prevent exploitation of farmers.

(iv) To discourage farmers from improving quality and quantity of
their produce.

Alternatives :

(A) (1) and (ii) (B) (1) and (iii)

(C)  (iii) and (iv) (D) (i) and (iv)

25. Economic reforms were introduced in India and Pakistan in the years

and , respectively.

(A)
(C)
11-58/1/1
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1988, 1978 (B) 1991, 1978
1991, 1988 (D) 1981, 1991
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26. THIRId HeAT 1 HIEH AT HIT : 1

HI7 1 : T iaesl FE&0 e (NSSO) 5 sUSHRI i 369 TR qRHTG
fopa 2 T o8 9 sraen B, T =afts m & v & wror fomn
HH & & Id & Al o auifad Fameen @ sm i adw = ®
8 | 9 wM AR e & Aise feafadi % dga @ wE H
$TB1 /IUASHAT Sh HLd 7 |

FYT2 : YN S AP MEE] el TS H T=Sd SIS AHAR WL
THET 7 |

feu U seFT % AT H, HTdRad § § gel faehed 1 =99F $ifve -

(A)  HIT 19T g 3N HI 2 3TE0H 7 |

(B) I 13EIEIN FAT2HT 2 |
(C) YT 13N 2T T B |
(D) %I 13X 23T 36T B |

27. UgHM shifee fop FafalRaa & @ SH-91 G-20 &1 Te=g T 757 2 : 1
(A) SIS
(B)  eAteefern
(C) SAR:
(D)  STSIEMT
28. (%) “MufEfies H@@ & SNH A@Ee @@ § e draredr
fers & 17
F1 9 U T YT H FEHA 7 ? 99 bl b @Y AU I hl g
hHIfTT | 3
SPC]
(@) 1 FRi & foar @ wary SHe wrer ot 8w & fwfies fifa
Hehed, 1956 oh d&d fa=AHd Toham =T o | 3
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26. Read the following statements carefully : 1
Statement 1 : As per the National Sample Survey Organization (NSSO),
unemployment is a situation in which all those who,
owing to lack of work, are not working, but are seeking
work from prospective employers. They express their

willingness/availability to work under the prevailing

conditions of work and remuneration.

Statement 2 : Disguised Unemployment is generally a massive problem
in a highly populated country like India.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

27. Identify which of the following is not a member nation of G20 : 1
(A) Brazil
(B)  Australia
(C) Bangladesh
(D) Argentina

28. (a) “During the colonial period, the occupational structure showed
lopsided movements.”
Do you agree with the given statement ? Justify your answer with

valid arguments. 3

OR

(b)  Elaborate the reasons owing to which the private sector was

regulated under the Industrial Policy Resolution, 1956. 3
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29. “yrg #, Tsdy e fifa 2020 ° foerent & TaThcia UM W RS oA
feam & 17
()  3TE *H A 3 A=a gt FEior (HCF) & |ia S 989 hif | 1
(i) XA % Ik faehrE W 38 GId o AWIfad IHEl shi foear & =me
HIfT | 2

30. (%) “Oyw Usg o I 9 GmIGS AES o YT 9 I8 Geha fem B T
TRd 30 2023 % HIE H d9 w9 Sigh, fova &1 gad A

STEET et U & T 8 |7

=9 g’ 1970 % Tk H ITYATE T3 TshdA-oTAh H11d o IROMHT shl SAREAT
$||\3Q | 2

(@) = A AfUF Falg | fomiv 7 &= (SEZ) % J9@i &l == hifvQ | 2

31. (%) 3IY Tl g Iooi@ g AR hifore fop Ffaafga wem gy & a1 37977 -

(i) T ¥, YR TR A faiid GaeEi o Heead e o g

SH-GF FISHT S s Hew@qUl $eH 39TT & | 2
(i) e — SEen U et e § Uomm i feufa o1 fovemor
HE & 7T 39 fomam S STt Ush Heohdeh & | 2
arerat

(@) (i) wra ® ufgen fem & Meofga w3l TMavashdr 6 are

HIT | 3
(i)  TR-PN TEER e # fafadientor nfafafe™ & fhmal a1 3o
%1 Iech@ hIT | 1
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29. “In India, National Education Policy 2020 has stressed a lot on in-service

training of the teachers.”

(1) Identify the source of Human Capital Formation (HCF) indicated

in the aforesaid statement. 1

(ii))  Elaborate the likely impacts of this source on the economic

development of India. 2

30. (a) “United Nations Department of Economic and Social Affairs
indicated that India has overtaken China as the world’s most

populous country in the month of April 2023.”

Explain the consequences of one-child policy adopted by China in
the 1970s. 2

(b)  Discuss the impacts of Special Economic Zones (SEZs) on the

economic growth of China. 2

31. (a) State and elaborate whether the following statements are true or

false, with valid arguments :

(1) In the recent past, the Government of India has taken
crucial steps, like Jan-Dhan Yojana, for efficient allocation

of financial resources. 2

(i)  Worker — population ratio is an indicator, used for analyzing

the employment situation in a nation. 2
OR
(b) (1) Elaborate the need to promote women’s education in India. 3

(ii))  Mention any two examples of diversification activities in the

non-agro processing industries. 1
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(@) “Gauam feufa ®, 9Ra S Usg § @Td gRed I i H e SreEfieh]

Hewayul it fvrdt g 17

feu e weq =1 Sfifuew fag hifse | 3

33. (%) (1) “YNd GHR g 31T T IS0 UM o Aid, Tenfieh & &1

e 31ca Agwqut o |7

O dehl g TaU T oM 1 @ed Aa] gaedq hifsu | 3
(i) “sf@ wifd & se Y 1990 & T % YR hl 65 Tfdd SHEEIT
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SUaT
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(i) YR AT ATSHT o 3£ o &9 H “GHAT & O1F Hglg % W
1 Ieai@ HINT | 2

34. fmAfcIiEad T &1 eMYEs T HINT :

Rd § 9 q91 9 YgUT hl & @ wiEwer fHarst 8 fued % foe
R A 1974 H g Tqu1 2501 1€ (CPCB) ! €191 I | 366 18, U
TR R/ gt gy farett @ Fued & fou o= 3 a-ee 98 9 | 3
d1€ (CPCB) 5, a1 3R Y YgUU ¥ He{¥d Y3l Sl Fehad N fordior
Fd & | 9 FeR /AR Femm@ 3 3IcEsH & A [Hyifid =d 2 | I 918 I
1 ST FGUUT b Uho™, =0 i Hfl o foru Sret-amasti gro Afeat s i
I AT b YT & T qehieh! TEREAT YGH Hd & | $Thl B a1y hl
U H GUR AT B | ¥ 9N H 9 YGWU % FRE0 g ot EUhRl Sl dehlehl
AT Y i B |

Y 9IS I F 91 YGUUT § Hetud GEEASA hl A9 9 AEUH Hf Fd 3
3R THt A 9 IFEYM I JRING Hid & | $9% [T I I T9R o q1eq9 |
I STTEehdl hRishH TTed id & | PCB %=k 9 91Uy AURSel & HueH
3TN IU=R ¥ waied femmee, dfgar it Aniesie gfuesh d9m #id 2 |
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32. (a) State any two problems faced by farmers during the initial years of
organic farming. 1
(b)  “In the current situation, Information Technology plays a vital role
in achieving food security in a nation like India.”
Justify the given statement. 3

33. (a) () “Under the liberalisation measures taken by the Government
of India, regulation of industrial sector was extremely
crucial.”
Reject or support the given statement with valid arguments. 3

(i1)) “Despite the implementation of Green Revolution, 65 per cent
of India’s population continued to be engaged in the
agriculture sector till the 1990s.”
Justify the given statement with valid explanation. 3

OR

(b) (i) “Every coin has two sides — debate over farm subsidies is one
such classic example of the same.”
Justify the given statement with two arguments each in
favour of and against the continuation of the farm subsidies. 4

(ii) State the importance of “Growth with equity” as the objective
of Indian economic planning. 2

34. Read the following text carefully :

In order to address two major environmental concerns in India, viz.
water and air pollution, the government set up the Central Pollution
Control Board (CPCB) in 1974. This was followed by states establishing
their own state level boards to address all the environmental concerns.
They investigate, collect and disseminate information relating to water,
air and land pollution, lay down standards for sewage/trade effluent and
emissions. These boards provide technical assistance to governments in
promoting cleanliness of streams and wells by prevention, control and
abatement of water pollution, and improve the quality of air and to
prevent, control or abate air pollution in the country.

These boards also carry out and sponsor investigation and research
relating to problems of water and air pollution and for their prevention,
control or abatement. They organize, through mass media, a
comprehensive mass awareness programme for the same. The PCBs
prepare manuals, codes and guidelines relating to treatment and disposal
of sewage and trade effluents.
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They assess the air quality through regulation of industries. In fact,
state boards, through their district level officials, periodically inspect
every industry under their jurisdiction to assess the adequacy of
treatment measures provided to treat the effluent and gaseous emissions.
It also provides background air quality data needed for industrial siting
and town planning.

The pollution control boards collect, collate and disseminate
technical and statistical data relating to water pollution. They monitor
the quality of water in 125 rivers (including the tributaries), wells, lakes,
creeks, ponds, tanks, drains and canals.

On the basis of the given text and common understanding, answer the
following questions :

(a) State any two concerns owing to which the Central Pollution
Control Board (CPCB) was established. 1

(b) Explain any two functions performed by the Central Pollution
Control Board (CPCB). 2

(c)  Elaborate any two strategies to ensure sustainable development as
adopted by India. 3
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination,2024

ECONOMICS (SUBJECT CODE - 030)
(PAPER CODE - 58/1/1)

General Instructions: -

1 You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious
problems which may affect the future of the candidates, education system and teaching
profession. To avoid mistakes, it is requested that before starting evaluation, you must
read and understand the spot evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of
the examinations conducted, Evaluation done and several other aspects. Its’
leakage to public in any manner could lead to derailment of the examination
system and affect the life and future of millions of candidates. Sharing this
policy/document to anyone, publishing in any magazine and printing in News
Paper/Website etc may invite action under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise and due marks
be awarded to them. In Class XIl, while evaluating competency-based questions,
please try to understand given answer and even if reply is not from marking
scheme but correct competency is enumerated by the candidate, due marks should
be awarded.

4 The Marking scheme carries only suggested value points for the answers.These are in
the nature of Guidelines only and do not constitute the complete answer. The students
can have their own expression and if the expression is correct, the due marks should be
awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be
zero after delibration and discussion. The remaining answer books meant for evaluation
shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

6 Evaluators will mark( \' ) wherever answer is correct. For wrong answer CROSS ‘X” be
marked. Evaluators will not put right (v') while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.
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7 If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the
left-hand margin and encircled. This may be followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand margin
and encircled. This may also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11 A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the
answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Guidelines).

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:- Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Leaving answer or part thereof unassessed in an answer book.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.
14 While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (O)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over
to the title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on
payment of the prescribed processing fee. All Examiners/Additional Head
Examiners/Head Examiners are once again reminded that they must ensure that
evaluation is carried out strictly as per value points for each answer as given in the
Marking Scheme.
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MARKING SCHEME

Senior Secondary School Examination 2024
ECONOMICS (Subject Code-030)
[Paper Code : 58/1/1]
Maximum Marks: 80

Q. EXPECTED ANSWER / VALUE POINTS Marks

No.
SECTION -A
(Macro Economics)

1. Read the following statements carefully:

Statement 1: If in an economy the level of income increases (AY), it will always

proportionately increase the level of consumption (AC).

Statement 2: Marginal Propensity to Consume (MPC) and Marginal Propensity to Save

(MPS) are always equal to each other.

In the light of the given statements, choose the correct alternative from the following:

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Ans. (D) Both Statements 1 and 2 are false. 1
2. Identify the correct equation from the following:

(A) GDPwmp = NNPgc + Depreciation

(B) NDPrc = NNPrc + Net Indirect Taxes

(C) GNPwmp = GDPwmp + Net Factor Income from Abroad

(D) NNPrc = NDPwmp + Depreciation

Ans. (C) GNPwmp = GDPwmp + Net Factor Income from Abroad 1
3. Read the following statements - Assertion (A) and Reason (R). Choose the correct alternative

given below:

Assertion (A): Full employment situation refers to absence of involuntary unemployment.
Reason (R): Under full employment situation, all the willing and able bodied people get
employment at the prevailing wage rate.

Alternatives:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 1
explanation of Assertion (A).

4, “As per the National Stock Exchange (NSE) data, dated 9™ June, 2023, there was a net selling
off worth X 309 crore by Foreign Institutional Investors (FIIs) over the period of one month
i.e., 9" May, 2023 - 9" June, 2023.”

The above mentioned transactions will be recorded on side of

account of Balance of Payments of India. (Choose the correct alternative to fill in the blanks)

(A) Debit, Current (B) Credit, Capital

(C) Credit, Current (D) Debit, Capital

Ans. (D) Debit, Capital 1

XIl_030_58/1/1_Economics_2024 # Page-3

Get More Learning Materials Here : & m @&\ www.studentbro.in



5. Identify the incorrect feature(s) of money supply (M1) from the following:
(i) It is measured at a point of time.

(ii) 1t does not include stock of money held by the government.

(iii) It is always the currency in the hands of the Central Bank of a nation.
Alternatives:

(A) (i) and (ii) (B) (ii) and (iii)

(C) (ii) only (D) (iii) only

Ans. (D) (iii) only 1
6. Total consumption expenditure by households under Keynesian Economics is a combination

of and : (Choose the correct alternative to fill in the blanks)

(A) Autonomous Consumption, Autonomous Investments
(B) Autonomous Investments, Induced Consumption

(C) Induced Investments, Autonomous Investments

(D) Autonomous Consumption, Induced Consumption

Ans. (D) Autonomous Consumption, Induced Consumption 1
7. Find the missing figures and choose the correct alternative:
Round Deposits Loans (80%) Reserve Ratio
(20%)
I 5000 4000 ().
I 4000 .(ii).. 800
Total .(iii).. .(iv).. 5000

Alternatives:

(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000
Ans. (C) 1000, 3200, 25000, 20000 1

8. Surplus in Balance of Payments (BOP) refers to the excess of .
(Choose the correct alternative to fill in the blank)
(A) Autonomous payments over Autonomous receipts
(B) Current Account payments over Autonomous receipts
(C) Capital Account receipts over Capital Account payments
(D) Autonomous receipts over Autonomous payments
Ans. (D) Autonomous receipts over Autonomous payments 1
9. Suppose for a hypothetical economy:
C =100 + 0-75Y (where C = Consumption and Y = Income)
lo = 400 (lo = Autonomous Investment)
Value of Investment Multiplier (K) would be .
(Choose the correct alternative to fill in the blank)

(A) 5 (B) 4
(C)6 (D)3
Ans. (B) 4 1

10. | Suppose, the Balance of Trade of an imaginary economy shows a favourable balance of X
500 crore. The values of merchandise exports are X 1200 crore and transfer payments are
%400 crore. The value of merchandise imports would be X crore.

(Choose the correct alternative to fill in the blank)
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(A) 1700

(B) 750
(C) 700
(D) 900
Ans. (C) 700 1
11. | On the basis of the data given below for an imaginary economy, estimate the value of Net
(@) | Domestic Product at Factor Cost (NDPrc):
S.No. Items Amount
(in crore)
(i) | Gross Domestic Fixed Capital Formation 200
(if) | Exports 50
(iii) | Government Final Consumption Expenditure 320
(iv) | Consumption of Fixed Capital 35
(v) | Household Final Consumption Expenditure 470
(vi) | Inventory Investment (Net) (-)40
(vii) | Imports 60
(viii) | Net Indirect Taxes 50
(ix) | Net Factor Income from Abroad 20

Ans. Net Domestic Product at Factor Cost (NDPrc) = (v)+(iii)+(i)+(vi)+(ii-vii)-(iv)-(viii) | 1%
=470+320+200+(-40)+(50-60)-35-50 1
=3 855 crore Y
OR 3
(b) | Elaborate the concept of Externalities with the help of suitable example.
(1) | Ans. Externalities refer to benefits/harms which are caused by one entity to another | 1%
without being paid/ penalised for it.
For example: Newly developed public park Yo
(Any other relevant example to be awarded marks)

(ii) | Define Operating Surplus.
Factor income earned in the form of rent, royalties, interest and profits are together 1
called ‘Operating Surplus’.

12. |Distinguish between fixed exchange rate system and flexible exchange rate system.
Ans. Under the Fixed Exchange Rate System, the foreign exchange rate is fixed by the | 1%
government. This exchange rate system helps in maintaining stability in the value of the
domestic currency vis-a-vis foreign currencies.
Whereas;

Under the Flexible Exchange Rate System, the foreign exchange rate is determined by | 1%
the interaction of market forces of demand and supply. Flexible exchange rate keeps
fluctuating according to the demand and supply.

13. |Complete the following table. Construct/Express the Consumption function at ¥ 200 crore
(@) |level of income.

Get More Learning Materials Here: &

Income (Y) Savings Average Propensity to |Marginal Propensity to
(in % Crore) (in % Crore) Consume (APC) Save (MPS)
0 (-) 30 - -
100 | .. r
200 | .l 08
30 | 08 |
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Ans.

Income () Saving Average Propensity to | Marginal Propensity
(in X Crore) (in X Crore) Consume (APC) to Save (MPS)
0 (-) 30 - -
100 0 1 0.3 Y2X 6
200 30 0.85 0.3 =
300 60 0.8 0.3
Consumption function, C=¢ +DbY
C=30+0.7Y 1

(Alternate answer for which marks may be awarded-Consumption at ¥ 200 crore level of income =X 170)

Working Note:
At an income level of X 200 crore, Marginal Propensity to Save (MPS) = 0.3 and
Marginal Propensity to Consume (MPC) = 1- MPS =1- 0.3 =0.7

(Marks not to be deducted if working note is not given)

OR 4
(b) |“In an economy, ex-ante Aggregate Supply is less than ex-ante Aggregate Demand.”
Explain its impact on the level of output, income and employment.
Ans. In an economy, if ex-ante Aggregate Supply is less than ex-ante Aggregate
Demand, it implies that households are planning to consume more than what the firms 4
expected them to. This will lead to an unintended fall in inventories. To restore the
desired level of inventories, producers may plan to expand production. As a result, there
may be an increase in the level of output, employment and income in the economy.

(To be marked as a whole)

14. | Justify the following statements with valid arguments:

(@) | The Central Bank is the sole currency issuing authority of an economy.
Ans. The Central Bank has the sole authority for issuing currency in the economy. This 2
ensures uniformity in the issue of currency and it gives the Central Bank control over
the money supply in the economy.

(b) | Money serves as a measure of standard of deferred payments.

Ans. Deferred payments are contracted to be made at some future date. Money
facilitates such transactions of borrowing and lending. Hence, money serves as a 2
standard of deferred payments.

15. [Read the following text carefully from ‘The Economic Times’ dated 8" June, 2023:

The Reserve Bank of India’s (RBI’s) rate setting panel unanimously decided to keep the
benchmark lending rate unchanged at 6-5%. The committee voted to remain focused on the
withdrawal of accommodating monetary policy.

On the basis of given text and common understanding, answer the following questions:

(a) (ldentify and discuss the economic issue indicated in the above text.
Ans. Inflation in the economy may be the economic issue indicated in the above text. 1
The situation of excess demand may be the underlying cause behind the decision taken 1
by the Reserve Bank of India (RBI) to keep the benchmark lending rate unchanged at
6-5%. (Any other valid economic issue may be awarded marks)
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(b) |[Discuss the likely consequence on money supply if the rate setting panel would have
decreased the said rate.

Ans. If the rate setting panel would have decreased the benchmark lending rate, the
commercial banks may reduce their lending rates. Consequently, it may encourage the 2
borrowings by the general public leading to an increase in the money supply in the
economy.

16. | Classify the following as Revenue receipts or Capital receipts. Give valid arguments in
(@) | support of your answer:

(i) Interest received on loan.

(ii) Disinvestment receipts from the sale of a government company.

(iii) Financial assistance by the Government of USA for promoting girl education in India.
Ans.

(i) Interest received on loan is a revenue receipt because it neither creates any liability 2
nor causes a reduction in assets of the government.
(i) Disinvestment receipts from sale of a government company are capital receiptsasit| 2
causes a reduction in assets of the government.
(iii) Financial assistance by the Government of USA for promoting girl education in 2
India is a revenue receipt as it neither creates any liability nor causes a reduction in
assets of the government.

OR 6
(b) | Study the following chart carefully and analyse the changing trends in the government
(i) | expenditure on:

(I) Transport

(1) Rural Development
TREND OF MAJOR ITEMS OF EXPENDITURE

(« lakk crore)

-

560 pry
8.5 A 202122 P
[ Revenue Expenditure (RE) 2022.23
B Budget Expenditure (BE) 202024

5.00
{50
1.00
3.60
3.004
2.60
2.004
1.60

1.00

0.50

0.00

Soasl Wellane u T Hesth [ucaser Agncatg and Hatd Traaspant

Develagrent Alef fcthfes  Developmest
Ans. As indicated in the given chart:
(1) Transport: The expenditure on transport accounted for % 3.32 lakh crore in the year 2
2021-22. In the year 2022-23, a Revenue expenditure of X 3.90 lakh crore was allocated
for this sector. Out of the total budget expenditure of the year 2023-24, % 5.17 lakh crore
was allocated to transport.
(1) Rural Development: In the year 2021-22, the expenditure on rural development 2
accounted for X 2.29 lakh crore. In the year 2022-23, of the total revenue expenditure %
2.43 lakh crore was allocated for rural development. X 2.38 lakh crore was allocated for
the development of rural sector from the total budget expenditure in the year 2023-24.

(ii) | Distinguish between ‘fiscal deficit” and ‘revenue deficit’.
Ans. Fiscal deficit refers to excess of the government’s total expenditure over its total 1
receipts excluding borrowing for a fiscal year.
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Whereas;
Revenue Deficit refers to the excess of government’s revenue expenditure over revenue 1
receipts for a fiscal year.

Note: The following question is for the Visually Impaired Candidates only in lieu of Q. No.
16 b (i).

Explain the stabilisation function of the Government Budget.

Ans. If an economy is facing fluctuations in income, employment and prices
(inflation/deflation), the government may push for correction of the situation using 4
budgetary (taxes/public expenditure) policies. The same may be undertaken by
working on the level of Aggregate Demand, relating to the spending decisions of
households and firms. (To be marked as a whole)

17. | Discuss briefly the concept of circular flow of income in a two-sector model.

(@ | Ans. In a two-sector economy model, households are the owners of factors of
production (Land, Labour, Capital, Entrepreneur). Firms combine these factors of
production to produce goods and services. They make factor payments (Rent, wages, 3
Interest, Profits) to households, which in turn, are spent by the households on the
consumption of final goods and services.

Thus, the income earned by the factors of production flows back to the production units
in the form of aggregate consumption expenditure. Thereby, completing the circular
flow of income. (To be marked as a whole)

(b) | “Real Gross Domestic Product (GDP) is a better indicator of economic growth of a nation
as compared to the Nominal Gross Domestic Product (GDP).”

Do you agree with the given statement? Justify your answer with a valid hypothetical
numerical example.

Ans. Yes. Real Gross Domestic Product (GDP) is the money value of all the final goods
and services produced in the domestic territory of an economy, measured at base year
prices. Whereas, Nominal Gross Domestic Product (GDP) is money value of all the final 3
goods and services produced in the domestic territory of an economy, measured at
current year prices.

For example:
Year Price Output Real GDP Nominal GDP
(in %) (in units) (PoQ1) (P1Q1)
2010 10 100 1,000 1,000
(Base Year)
2011 15 100 1,000 1,500
(Current Year)

Real GDP is a better indicator to make comparison in terms of physical output and it
eliminates the effect of price change.
(To be marked as a whole)

SECTION -B
(Indian Economic Development)
18. |Read the following statements- Assertion (A) and Reason (R). Choose the correct alternative
given below:
Assertion (A): The excessive regulation of permit license raj prevented certain private firms
from becoming fairly competitive.
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Reason (R): Private sector wasted huge amounts in obtaining licenses rather than on
improving the product quality and international competitiveness.

Alternatives:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 1
explanation of Assertion (A).

19. [(In the decade of the 1970s, Pakistan nationalized its industries.

(Choose the correct alternative to fill in the blank)

(A) Medical infrastructure
(B) Consumer goods

(C) Capital goods

(D) Foreign trade

Ans. (C) Capital goods 1
20. |Read the following statements carefully:

Statement 1: Under the colonial rule, basic infrastructure (like railways, post and telegraph
etc.) was developed.

Statement 2: The real motive behind the infrastructural development in India was to
strengthen the British interests.

In the light of the given statements, choose the correct alternative from the following:

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Ans. (C) Both Statements 1 and 2 are true. 1
21. |ldentify which of the following alternatives indicate the incorrect components combination
of Agriculture Marketing System:

(A) Assembling, Storage, Processing, Packaging

(B) Production, Assembling, Processing, Grading

(C) Assembling, Processing, Packaging, Transportation

(D) Processing, Packaging, Grading, Distribution

Ans. (B) Production, Assembling, Processing, Grading 1
22. |Read the following statements- Assertion (A) and Reason (R). Choose the correct alternative
given below:

Assertion (A): World Trade Organization (WTQ) is expected to establish the rule-based
trading regime, to avoid unilaterally placed arbitrary restrictions by member nations.

Reason (R): It is imperative to enlarge world production and ensure optimum utilization of
world resources along with environmental protection.

Alternatives:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
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Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 1
explanation of Assertion (A).

23. |Read the following statements- Assertion (A) and Reason (R). Choose the correct alternative
given below:

Assertion (A): China has used the market mechanism to create additional social and economic
opportunities for its citizens.

Reason (R): Social infrastructure creation by the government has brought positive results in
human development indicators in China.

Alternatives:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Ans. (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct 1
explanation of Assertion (A)

24. |ldentify from the following alternatives the incorrect objectives of regulated agriculture
market:

(i) To make the marketing system efficient and effective for farmers to get best price of their
products.

(i) To discourage improvement of marketing infrastructure for farmers.

(iii) To prevent exploitation of farmers.

(iv) To discourage farmers from improving quality and quantity of their produce.
Alternatives:

(A) (i) and (ii) (B) (i) and (iii)
(C) (iii) and (iv) (D) (ii) and (iv)
Ans. (D) (ii) and (iv) 1
25. |Economic reforms were introduced in India and Pakistan in the years and
, respectively. (Choose the correct alternative to fill in the blanks)
(A) 1988, 1978 (B) 1991, 1978
(C) 1991, 1988 (D) 1981, 1991
Ans. (C) 1991, 1988 1

26. |Read the following statements carefully:

Statement 1: As per the National Sample Survey Organization (NSSO), unemployment is a
situation in which all those who, owing to lack of work, are not working, but are seeking
work from prospective employers. They express their willingness/availability to work under
the prevailing conditions of work and remuneration.

Statement 2: Disguised Unemployment is generally a massive problem in a highly populated
country like India.

In the light of the given statements, choose the correct alternative from the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Ans. (C) Both Statements 1 and 2 are true. 1
27. |ldentify which of the following is not a member nation of G20:
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(A) Brazil

(B) Australia
(C) Bangladesh
(D) Argentina
Ans. (C) Bangladesh 1
28. |“During the colonial period, the occupational structure showed lopsided movements.”

(a) (Do you agree with the given statement? Justify your answer with valid arguments.

Ans. Yes. The occupational structure during the colonial period showed lopsided
movements as:

e Parts of Madras Presidency, Bombay and Bengal witnessed a decline in the 3
dependence of the workforce on the agricultural sector with a commensurate increase
in the manufacturing and the services sectors.

e There had been an increase in the share of workforce in agriculture in states such as
Orissa, Rajasthan and Punjab. (To be marked as a whole)
OR
(b) |[Elaborate the reasons owing to which the private sector was regulated under the Industrial

Policy Resolution, 1956.
Ans. The Industrial Policy Resolution, 1956 regulated the private sector through a
system of licenses. This policy aimed at achieving regional equality. The government
made it relatively easier to obtain an industrial license, for industrial units to be 3
established in economically backward areas.
Moreover, to ensure judicious use of resources owned by the private sector, licenses
were needed for expanding/diversifying output by existing industrial units.

(To be marked as a whole)
29. |“In India, National Education Policy 2020 has stressed a lot on in-service training of the
teachers.”
(i) |ldentify the source of Human Capital Formation (HCF) indicated in the aforesaid statement.
Ans. On-the-job training is the source of Human Capital Formation (HCF) indicated in 1
the aforesaid statement.

(ii) |Elaborate the likely impacts of this source on the economic development of India.

Ans. On-the-job training has become an integral part of work environment in the recent
times as it enhances the productive capacity of employees. It enables employees to 2
develop skills and adapt to modern technologies. As a result of on-the-job training, an
employee is likely to contribute more productively leading to the economic development
of India.

30. | “United Nations Department of Economic and Social Affairs indicated that India has
(@) | overtaken China as the world’s most populous country in the month of April 2023.”
Explain the consequences of one-child policy adopted by China in the 1970s.

Ans. In the late 1970’s, owing to the population explosion and the subsequent socio-
economic concerns, China adopted the One Child Norm. This policy led to a sharp 2
decline in its population growth rate. In addition to this, the sex ratio declined.
Furthermore, the implementation of the one-child norm led to increase in the
population of elderly people in proportion to young people.

(b) | Discuss the impacts of Special Economic Zones (SEZs) on the economic growth of China.
Ans. The setting up of Special Economic Zones (SEZs) in China led to a substantial
increase in foreign direct investment in the economy. With the massive inflow of foreign 2
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capital and technology in China, the productive capacity increased thereby contributing
to the rapid economic growth of China.

31. | State and elaborate whether the following statements are true or false, with valid arguments:
(@) | In the recent past, the Government of India has taken crucial steps, like Jan-Dhan Yojana,
(i) for efficient allocation of financial resources.

Ans. True, the Government of India has implemented schemes like Jan-Dhan Yojana,
which has promoted thrift habits and efficient allocation of financial resources. The 2
formal banking system has been benefitted by mobilization of a substantial amount
under this yojana.

(if) | Worker-population ratio is an indicator, used for analyzing the employment situation in a

nation.

Ans. True. Worker-population ratio is useful in knowing the proportion of population

that is actively contributing to the production of goods and services of a country. If the 2

ratio is higher, it means that a greater number of people are employed and vice versa.
OR 4

(b) | Elaborate the need to promote women’s education in India.

(i) | Ans. Promoting women's education in India is imperative for societal progress and
gender equality. Educated women contribute to economic growth by entering the 3
workforce and making informed decisions about their lives. Moreover, educating
women makes a favourable impact on the fertility rate and health care of women and
children. Hence, investing in women's education uplifts communities and drives
sustainable development across India.

(ii) | Mention any two examples of diversification activities in the non-agro processing industries.
Ans. Examples of diversification activities in the non-agro processing industries are:

e Fisheries Ve
e Animal Husbandry Y
(Any other valid example to be awarded marks)
4
32. | State any two problems faced by farmers during the initial years of organic farming.
(@) | Ans. In the initial years of organic farming, farmers used to face a lot of problems
such as:
e Yields from organic farming are relatively less. Yo
e Inadequate infrastructure. Yo

(Any other valid problem to be awarded marks)
(b) | “Inthe current situation, Information Technology plays a vital role in achieving food security
in a nation like India.”

Justify the given statement.

Ans. In India, Information Technology (IT) plays a crucial role as government can
predict areas of food insecurity and vulnerability using appropriate information and 3
software tools. It helps in disseminating information regarding emerging technologies
and their applications, prices, weather and soil conditions for growing different crops
etc. Hence, IT plays a vital role in achieving sustainable development and food security
in a nation like India. (To be marked as a whole)

33. | “Under the liberalisation measures taken by the Government of India, regulation of industrial
(a) | sector was extremely crucial.”
0] Reject or support the given statement with valid arguments.
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Ans. The given statement is rejected. As the liberalisation measures curtailed many
restrictions on the industrial sector.
Industrial licensing was abolished for almost all except for three industries. Many 3
goods produced by Small Scale Industries were dereserved. In most of the industries,
market has been allowed to determine the prices independently. This was necessitated
by the slower industrial growth rate under the pre-reform period.

(To be marked as a whole)

(i) | “Despite the implementation of Green Revolution, 65 per cent of India’s population

continued to be engaged in the agriculture sector till the 1990s.”

Justify the given statement with valid explanation.

Ans. Some economists argue that Green Revolution did not make much impact on the

occupational structure of the country, as 65% of India’s population continued to find 3

its livelihood in agriculture. A major reason for this fairly large proportion of

population in agricultural sector as the industrial and service sector were not able to

absorb the people working in the agricultural sector. (To be marked as a whole)

OR 6

(b) | “Every coin has two sides - debate over farm subsidies is one such classic example of the

Q) same.”

Justify the given statement with two arguments each in favour of and against the

continuation of the farm subsidies.

Ans. The introduction of farm subsidies had been an opinionated step taken by the

Government of India.

Arguments in favour of continuing farm subsidies:

e Eliminating subsidies may increase inequalities of income between rich and poor 1
farmers.

e Most farmers (small and marginal) may not be able to afford expensive agricultural 1
inputs without subsidies.

Arguments against farm subsidies:

e Itisoften argued that farm subsidies have helped the fertilizer industry much more 1
than helping the needy farmers.

e Economists argue that subsidies are a huge burden on government’s finances. 1

(ii) | State the importance of “Growth with equity” as the objective of Indian economic planning.
Ans. For a nation, both growth of Gross Domestic Product (GDP) and equity in
distribution of income are equally important. Growth refers to an increase in a
country’s capacity to produce goods and services. Equity refers to reductions in 2
inequality of income and wealth.

Growth with equity ensures that the fruits of economic development are enjoyed by all
sections of society equitably. Hence, achieving equitable growth is an important
objective that was taken into consideration in the Indian economic planning.

34. | Read the following text carefully:

In order to address two major environmental concerns in India, viz. water and air pollution,
the government set up the Central Pollution Control Board (CPCB) in 1974. This was
followed by states establishing their own state level boards to address all the environmental
concerns. They investigate, collect and disseminate information relating to water, air and
land pollution, lay down standards for sewage/trade effluent and emissions. These boards
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provide technical assistance to governments in promoting cleanliness of streams and wells
by prevention, control and abatement of water pollution, and improve the quality of air and
to prevent, control or abate air pollution in the country.

These boards also carry out and sponsor investigation and research relating to problems of
water and air pollution and for their prevention, control or abatement. They organize, through
mass media, a comprehensive mass awareness programme for the same. The PCBs prepare
manuals, codes and guidelines relating to treatment and disposal of sewage and trade
effluents.

They assess the air quality through regulation of industries. In fact, state boards, through
their district level officials, periodically inspect every industry under their jurisdiction to
assess the adequacy of treatment measures provided to treat the effluent and gaseous
emissions. It also provides background air quality data needed for industrial siting and town
planning.

The pollution control boards collect, collate and disseminate technical and statistical data
relating to water pollution. They monitor the quality of water in 125 rivers (including the
tributaries), wells, lakes, creeks, ponds, tanks, drains and canals.

On the basis of the given text and common understanding, answer the following questions:
(a) | State any two concerns owing to which the Central Pollution Control Board (CPCB) was
established.
Ans. Two major concerns owing to which the Central Pollution Control Board (CPCB)
was established were:
e Water pollution Yo
e Air pollution (Or any other valid concern to be awarded marks) | %2

(b) | Explain any two functions performed by the Central Pollution Control Board (CPCB).
Ans. Functions performed by the Central Pollution Control Board (CPCB) are:

e It investigates, collects and disseminates information relating to water, air and 1

land pollution.

e It lays down standards for sewage/trade effluent and emissions. 1

(Any other valid function to be awarded marks)

(¢) | Elaborate any two strategies to ensure sustainable development as adopted by India.

Ans. In order to ensure sustainable development, following strategies are adopted by
India:

* Use of wind energy: In areas where speed of wind is usually high, windmills are used | 1 1
to generate electricity without any adverse impact on the environment.

* Use of solar energy: With the help of photovoltaic cells/solar panels, solar energy
can be converted into electricity. This technology is extremely useful for remote areas | 1 14
and is free from pollution. (Any other valid strategy to be awarded marks)

% % %
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